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Objective Paper

Q.1. Tick the correct option: -
1.900-201="7
a. 699 b. 700
c. 701 d. 799
2.14 lessthan4lis
a. 7 b. 33
c. 27 d. 31
3. 5555 - = 4555
a. 10 b. 100
c. 1000 d. 500
4. 1n 39 x 84 = 84 x 39, the property used is: -

a. Distributive Property b. Commutative Property

c. Multiplicative property of 1 d. Multiplicative property of 1
5.In 8 x5 =40, 40 is called

a. Multiplicand b. Multiplier

c. Sum d. Product




. The product of 50 and 50 is: -
a. 25 b. 250
c. 500 d. 2500
.Compare6x9  13x14
a. < b. >

C.= d. None of these

. Division is a process of repeated

a. Addition b. Subtraction
c. Multiplication d. None of these
. The answer of division is called: -
a. Quotient b. Sum
c. Difference d. Product
.1356+135=_
a.0 b.1
C.2 d.3
: _Out of the following division, one has a different quotient. Which is
It.
a.63+9 b.48 + 6
c.32+4 d.64+8
. Which of the following has no end point?
a. Line b. Line segment

c. Ray d. None of these




. Choose the odd one out: -
a. Rectangle b. Triangle
c. Circle d. Square
. Which of the following solid shapes has no vertex: -
a. Cylinder b. Sphere
c. Cone d. Both (a) and (b)
. Fill in the blanks: -

. Two line segments intersect at a

A has all 4 sides equal.

. When a number is divided by 1, the quotient is

. The number which divides is called the

. The product of 9 x 7 is

. In 2 dozen oranges there are oranges.

. The result obtained on subtraction is called

. When a number is subtracted from itself, the difference obtained is .
. True/False: -

. We can change the order of subtraction.

. The result obtained on multiplication is called the product.

. The remainder is always smaller than the divisor.

. Any number +by 0=0

. Division is equal distribution.

. A cuboid has 8 faces.
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. All edges of cuboid are equal.




. Sphere has edges.
. Rectangle has all sides equal is length.

. Cylinder has 2 vertices (corners).

Subjective Paper

. Solve the following: -

. The sum of two numbers is 8136. One of them is 3887. What is other
number?

. Rajan has 1167 stamps while his brother Sajal has 1843 stamps. Who has
more stamps and by how many?

. Multiply 284 by 29.

. The cost of a racket is Rs. 196. What is the cost of 27 such rackets?
. Divide 24 + 8 using repeated subtraction method.

. Divide 763 by 5 and check the result of division.

. A man distributed Rs. 1101 equally among his 3 sons. How much money
did each son get.

. Construct a line segment of length 8 cm.

. Draw a circle of radius 3 cm.




